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99 9 &1 / Que. Paper No.:  V/24-25/ B-10-3 /
fasa /Subject - MG / Mathematics

quT® / Max. Marks - 100 99 / Time - 3 ©21/3 Hours

91 Gl fheq % amA (v) g e - 2x10=20
Mark (¥') in front of the correct option .

TR G (V) 3f e ergad -

1. Ao fHg & faai®s —
Coordinates of origin point —

o N o
L4

Tle: feidamg: —
@ (1,1) (@M (0,0)
® (1,0 ® 1)

2. A Yoo % G H HiA-H FUE Tl T8 ?
Which statement is not true in the respect of Bodhayana Shulbasutra ?
TGN Foh FHo Hed AT 2
(31) ST A Yok AGAGII I S € |
Bhodhayan Shulbasutra comes under Shukla Yajurveda.
N . R |

() ST T Y & IRER IR THE & A E FEd
The Bodhayan's theorem is told as Pythagora's theorem.
SIS W TN TINEsHY Sl T e |

(8) SR Yo F A L |
Bhodhayan Shulbasutra comes under Krishna Yajurveda.
ARl FOETAEH |

@) I Y r FAFS R |
The value of m is 3 in Bodhayana Shulbasutra.
TS 7 3cae | 3 311 |
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LAY

3. GHEd % G<y H Hi9-1 HYF G 2l & ?

Which statement is not true with respect to the set ?

T Tre (% HH STEcH ?

(%) TG F GG EE H1 T FEAE |
A well-defined group of objects is called a set.
T ARG : §=: |

(3M) @ qY=aY ST eregal i dE aRid &, IR S FEadi g |
A set which have a finite number of elements is called a finite set.
TARRT: =9, TRE TqIaT S IRAT, TRATEI=ad: Fed |

(@) @ EeE e e o de SRt 8, SRt S FEa |
A set which have a infinite number of elements is called an infinite set.

TARRT: T=9:, TRH Il ST AR, SARHAEI a4 : 5 |

@) Rk 99=a F g O ST S Hehd £

Three subsets can be formed from the empty set.
Rere=aae o STH=aa1: fFmiTg T |
4, OE9E % GGF H RiA-91 FUA GA I 8 ?

Which statement is not true with respect to polynomials ?
TEUCE Tea (oh HU-TH, I -
(21 el agae H =R I =G 1 &9 W I TgIE FI I Tg9E FEd B |

If the degree of a polynomial is 1 in any polynomial, then

that polynomial is called a linear polynomial.
FRITG TEUS 70 T 1 TR, TR | ad 9598 “ARash-agugd” 31 Fod|
() ToRell g H =Rl H1d 2 &1 W I FgE i agug Fad € |

If the degree of a polynomial is 2 in any polynomial, then

that polynomial is called a quadratic polynomial.
FIHTE TgHe T HIq: 2 IR, TR |l Id Tgue “fEanda-agaeq” 3fd Fead|
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(@) el ogue H T E o 3 &M W I 9g9e Fl i ague Fed & |

If the degree of a polynomial is 3 in any polynomial,

then that polynomial is called a cubic polynomial.
FIHTE T T =a: 2 AR, FeRId Gfd ad 959 “Fradia-ag9en” gfd e |

@) IR FINERS aff = %b

Product of zeroes aff = —

IR RS af = %b IR |

5. el u orea foreg @ 9 R a1 T SN S G & 2
How many tangents can be drawn to a circle from a single intersection
point?

[ LN aN ™~

TR FEAGY STloiegl: [ : TRNET: SRAg e ?

) 1 (3m 2

@) 3 @ 0

6. foeg (-8, —6) fne wqarm | Rea & 2
In which quadrant point (-8, —6) lie ?

foreg: (=8, —6) Hiw wgul fead: ?

(31)  FoH TgU CIIRESIREESEIR
I Quadrant IT Quadrant
e Ul fia g

(®) o g @ =g =g
IIT Quadrant IV Quadrant
GRIPAGRIE <gdl wgunl
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7. qﬁ%=%:f:z—l Fﬂ:ﬁWalx+b1y+C1=0,a2x+b2y+C2=Oﬁm$IE?'5—
2 2 2
= a , solution of system of equations a;x + b1y + ¢; =0, axx + byy +
a bz Cy
Cr = 0-
Mg 2= 2 o & I, apx + bry + ¢ =0, apx + by + ¢ = 0 T A -
2 2 2
() FEESTE R (M) g s E
There is no solution There is a unique solution
feRmfY IO AR ANfETTHHH ST 2R
(3) IFdESE @) = A HE T
There are infinite solutions None of these
I I A T R |

8.  fewrfestiad Siuft H & FiA-E THIR S & 2
Which of the following series is an arithmetic series?
T FATSRATG, HUTY FHTHT FHIICHTT ?
N 2,4,8,16,... m 1,3,9,27,...

® 1,2,3,4,5... @ 0,5,25,10,...

9.  T& WAl ST flcsRad H § i H il &1 Tl -
The probability that cannot exist among the following -

N S o~

ATERN SRR AT STy TR A Wfeid Faid -

(1) g @) 15%

@ -15 @) 07
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10. ?ZH% SL'TLA=% dl cosec A F1HE &FT -

If sind= Z than the value of cosec A will be -

qfe sin A =%alﬁ?r,%acosec,43?qwm:im%r&1%-

(@ = (zm 2
® @ =
v2. < Tl A g i - 2x5=10
Fill in the blanks -
eI O -
1.  EHHI NS & G T8 S i g |

Baudhayana Shulbasutra comes under .................. Veda.

1B | PCEIC s AR ST I TR |

The coordinate of the y axis in the coordinate point is called ..................

ECRNEaE LA BT RS BT ) | Fod |
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~ C >\
5 STghH: 2, 4, 6, 10 =T 9UT & |

u3. ferfeiaa 3ol & fem W R Sl - 2x5=10
Consider matching the following pairs -
frrafosRaamt grAT Ao e -
—b+VbZ—aac
1' [N N :ﬁ \.Eﬁ_ . EB bi Zba 4ac

Number of trigonometric ratios

o (\ii 3 3

<

2. HERHEH d. 6
Bhaskaracharya
ISR

3. TREH T 0"H1HAH
Brahmagupta Between 0 and 1
ERRISE

4., YRR H HE 1> A = AT A BN )

Value of probability Siddhanta Shiromani
[N : [N [ NN o\ :

5. o e . T e
Shridharacharya Formula Brahmasfut Siddhanta
ST, BRI AT EACSE

. 5
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N4, frafoRea v & o @ swc fofa - 1x5=5
Write the true or false of the following statement —
frrafosRercTy Fermy Tea STecd a foser —

1. e agee & e S den I Ed § |
The number of zeroes of a quadratic polynomial is two.
TEETa-9gaqe A 66 § Waa: |

2. /3 UF OREG @R |

\/3 is an irrational number.

/3 TERT STYRETT ST AR |

3. SHITRAEANELE
Paramitra digit of 8 is 4. 8
T G 3T 4 3fa 3

4. AL F HE AR ‘0’ HEE TG |
Common difference of arithmetic progression is represented by ‘a’
AR |GH 3R ‘q’ IA- SAhigaied |

_ Nl __ Perpendicular &
5. cotl = TR / cotl = — / cotl = R
u.5. 3T SEEE 9 - 2x10=20

Very Short Answer Type Questions —
ferBeLTC: S —

1. “guEe: GeiasRT: Praeuiumerta gt 7 T 9 e g | ], gnenem
“FqTE]: Ta[ashvAT: PIGURUTETH AUl ” Explain the context of this sutra.
“IEET: JefershT: FIeaRuIET JaraRunic | ” T3 HRE T sEifd STavmad |
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2. TUTE%RS # /Find the product - (5x —4) (2x + 3)

(5x — 4) (2x + 3) TIH IUEHS Ad |

3.  Uheged gaUI G d 588 X 51 IUEHS i |
Find the product of 588 x 51 by Ekanyunena Purvena Sutra.

“Teheelel G I G0 - 588 X 51 IAE IPAHRSH T |
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4. TTAGRad fEaTd THIE & g1 o THIE & AUE &9 (ax2 + bx 4+ ¢ = 0) |
FE a, b AR ¢ F A 1d F
Find the value of a, b and ¢ by comparing the following quadratic equation
with the general form of the quadratic equation (ax? + bx + ¢ = 0).
ferfoiaae  fEaaa e ot (ax? + bx + ¢ = 0) T [EETaEHH0R
ARSI Fdl a, b, ¢ TIAH H Ao |
3x2+5x—7=0

5. I %1 SRS A RIS, [oTehl Brea 14 &1, &1 |
Find the area of the circle whose radius is 14 cm.
TR JE §Ehe UTedd 6 B 14 St aRiEaT Wad |
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6.  foIg (4, 3) I (0, 0) % =4 i T A BT |
Find the distance between the points (4, 3) and (0, 0).
(4, 3) A1 (0, 0) FT=AN: forgaead ¢ goam |

7. A, BT PL(x) =x%+5x+ 6 FIYFRE Al a + B F AW A HifeTl
If a, B are the zeros of the polynomial P(x) = x? + 5x + 6 then find the value

ofa+p
e @, B 3AA TGS P(x) = x% + 5x + 6 I IR &: Id a + B FTAEN: HE
oTed |
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8. d4,8,12,16, 20 Tk AT JUTt &, T SN a,, FT I F1EFT ?

If4,8,12,16, 20 is an arithmetic sequence, then what will be the term of

the sequence ayq ?

e 4,8,12,16, 20 TAT THRAUN STRA ¥, a,, ST S04 G & Aia=ad ?

9. (afefad sti®el #1 9 Td HIM : / Find the mode of the following data :
/ o\ [N aN . X &N 51 . 13 :

3,5,0,3,55,4,5

11

a9/ Year - 2024-25




T4 g8 3 AT ECiicheicgeli:ica T I8 % 3l & AW
+
Tt/ Mathematics 3¢ 39U 9= 39 G0 / Veda Bhushan Fifth Year Examination SET-A
2425 / B-10-3 %1 109 / 9@ 7w - 11 / Class 10% / Purva Madhyama - IT

N o

10. 1 31 e O A1 IB1S S & o IROTHAT it Fos H&An fhaeil &l 22

What are the total number of outcomes when two coins are tossed

simultaneously?
w‘g ~ H;am_g_lf_\ NN a_l%s‘ [aN . qpﬁ_ . q;_l_ [aN ?

U.6. ST 9H -

Short Answer Type

ST S —

1. G & G 9 Geiid a8 Je g IRet w1

questions —

3x5=15

Write and explain the Veda mantra of Rudrashtadhyayi number.
BETSTATA: AR dgH [SRaal a6 AT $od |

12

a9/ Year - 2024-25




T4 g8 3 AT ECiicheicgeli:ica T I8 % 3l & AW
+ =

Tt/ Mathematics 3¢ 39U 9= 39 G0 / Veda Bhushan Fifth Year Examination SET-A
2425 / B-10-3 %1 109 / 9@ 7w - 11 / Class 10% / Purva Madhyama - IT

2. T UM I G T IEH H5h T IAF 8 AT i MHHAT Fel HlTT |
Find the probability of getting the number 8 on its face when a dice is
thrown.

3. AEA={2,3},B={3,4,5}d (AUB)T (AN B)Fd &I |
IfA={2,3},B={3,4,5} thenfind (A UB)d (A NB).
e A={2,3},B={3,4,5) A d, (A UB) 3 (A N B) I A |
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4. IETAH RN T SRS T T foramnt B 7 8. 2 |

Find the circumference and area of the circle whose radius is 7 cm.

IO TR &R 9 Fded, I6d 5 7 9.8, qRiEan 1R |

5. fem= el Fit iR Fd i |
Find the median of the following data.
S S N Y NI I
17, 15, 8, 1, 6, 5, 11
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9.7. ?ﬂ‘fl I 9 —/ Long Answer Type Questions -/ Eﬁ‘ﬁﬁﬂm: 9 - 5x4=20

1. SR gR 9dTe T G T fos @y G0 5x2 — 4x — 7 = 0 Hl & X |
Solve the equation 5x* —4x —7 =0 by writing the formula given by

Sridharacharya.
SR 3k T3t fSRacat 5x2 — 4x — 7 = 0 S THIHE! THMEEH |
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2. AN G FH ITENT Fh I THIFT FI ES T HITT |

Find the solution of simultaneous equation by using the Urdhvatirgbhyam

formula.
C ¢

AT Fll FTH TG FITAEHIFT T |

5x+2y+6=0

/4

7x+4y+3=0

16
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3. qﬁsinAz%%?ﬁcosA@RtanA%lﬂﬂElﬁﬁ%‘{l

Ifind = % then find the value of cos A and tan A.

o

qie sin A =%aT'ﬁ¥l%a,cosAqa*tanAas?iaﬁ:m?i§W|

4. (F) IAGTEE (G (?) % A G T ST AT |
What should come in place of the question mark (?)
UHATIHTGE (?) T el A& HTfedead |
A C F ] ?
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@) frrfaRad dean SEet Bl SHMYEH SEh STEde FHITT ST 921 i IR ST |

12653218965321231

IUGh Fae | O fohael 1 & e gla a2 8 2

Study the following number series carefully and answer the question.
12653218965321231

How many 1s are there in the above arrangement which are

immediately followed by 2?

ferefosRed Tl mgds Toga Jiéel J Heeg Io Jraea |
12653218965321231

(e aNl aN o

IuRfoaarat eeedt Sid 1 dfed: 3 2 gaat: afed ?
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